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1. Introduction
In last RAN4 meeting, the RRM requirement with eDRX for RedCap has been discussed and the conclusions were captured in the WF[1]. 
We further discuss the RRM requirement with eDRX for RedCap in this contribution.
2. eDRX requirements for idle state
The remaining issues from last meeting are as below,
	Issue 1-2-2: Serving cell requirements for eDRX length larger than 10.24s
Agreement: The framework of requirements listed below are agreeable
Tentative agreement: Use the number in the table and put the formula  in the NOTES of the table, same for all cases when number and formula are used to express the same requirements

FR1 Nserv for 10.24s<eDRX cycle≤10485.76s
	eDRX cycle length [s]
	DRX cycle length [s]
	PTW length [s] 
(number of 1.28s periods)
	Scaling Factor (N1) for FR1
	Nserv [number of DRX cycles]

	20.48 ≤ eDRX_IDLE cycle length ≤ 10485.76
	0.32
	[TBD]
	1
	N1*2

	
	0.64
	[TBD]
	
	N1*2

	
	1.28
	[TBD]
	
	N1*2

	
	2.56
	[TBD]
	
	N1*2

	Note: FFS on whether M1 will be used or not for DRX = 0.32 and 0.64s


FR2 Nserv for 10.24s<eDRX cycle≤10485.76s
	eDRX cycle length [s]
	DRX cycle length [s]
	PTW length [s] 
(number of 1.28s periods)
	Scaling Factor (N1) for FR2
	Nserv [number of DRX cycles]

	20.48 ≤ eDRX_IDLE cycle length ≤ 10485.76
	0.32
	[TBD]
	[TBD]
	N1*2

	
	0.64
	[TBD]
	[TBD]
	N1*2

	
	1.28
	[TBD]
	[TBD]
	N1*2

	
	2.56
	[TBD]
	[TBD]
	N1*2

	Note: FFS on whether M1 will be used or not for DRX = 0.32 and 0.64s



Agreement: agree the following table for FR1 Serving cell requirements for eDRX length larger than 10.24s when DRX = 1.28 and 2.56s
	eDRX cycle length [s]
	DRX cycle length [s]

	
	
	PTW length [s] 
(number of 1.28s periods)

	20.48 ≤ eDRX_IDLE cycle length ≤ 10485.76
	1.28
	≥2.56 (2)

	
	2.56
	≥5.12 (4)



Issue 1-2-2-1: FR1 PTW length (N1=1), whether M1 should be considered for FR1/FR2 Nserv  when DRX = 0.32 and 0.64s 
Option 1: Keep M1 (MTK Huawei xiaomi Nokia oppo xiaomi)
Option 2: Do not use M1(Apple CMCC Ericsson)
Recommended WF: FFS



In last meeting, other companies commented to keep M1 in the FR1/FR2 Nserv when DRX = 0.32 and 0.64s. Even though we think the eDRX itself already provided sufficient power saving gain, we can compromise to keep M1 for the minimum requirement. 
Proposal 1: keep M1 in the FR1/FR2 Nserv when DRX = 0.32 and 0.64s: 
· M1=2 if SMTC periodicity (TSMTC) > 20 ms and DRX cycle≤ 0.64s, 
· otherwise M1=1. 
Thus, we propose for FR1 and FR2 serving cell measurement that,
Proposal 2: define serving cell requirements for eDRX length larger than 10.24s as below,
FR1 Nserv for 10.24s<eDRX cycle≤10485.76s
	eDRX cycle length [s]
	DRX cycle length [s]
	PTW length [s] 
(number of 1.28s periods)
	Scaling Factor (N1) for FR1
	Nserv [number of DRX cycles]

	20.48 ≤ eDRX_IDLE cycle length ≤ 10485.76
	0.32
	≥ 1.28 (1) 
	1
	M1*N1*2

	
	0.64
	≥ 1.28 (1) (M1=1) or ≥ 2.56 (2) (M1=2)
	
	M1* N1*2

	
	1.28
	≥ 2.56 (2)
	
	N1*2

	
	2.56
	≥ 5.12 (4)
	
	N1*2

	Note 1: PTW length is derived based on  
Note 2: M1=2 if SMTC periodicity (TSMTC) > 20 ms and DRX cycle≤ 0.64s, otherwise M1=1. 


FR2 Nserv for 10.24s<eDRX cycle≤10485.76s
	eDRX cycle length [s]
	DRX cycle length [s]
	PTW length [s] 
(number of 1.28s periods)
	Scaling Factor (N1) for FR2
	Nserv [number of DRX cycles]

	20.48 ≤ eDRX_IDLE cycle length ≤ 10485.76
	0.32
	≥ 5.12 (4) (M1=1) or ≥ 10.24 (8) (M1=2)
	8
	M1*N1*2

	
	0.64
	≥ 6.4 (5) (M1=1) or ≥ 12.8 (10) (M1=2)
	5
	M1*N1*2

	
	1.28
	≥ 10.24 (8)
	4
	N1*2

	
	2.56
	≥ 15.36 (12)
	3
	N1*2

	Note 1: PTW length is derived based on  
Note 2: M1=2 if SMTC periodicity (TSMTC) > 20 ms and DRX cycle≤ 0.64s, otherwise M1=1.



Regarding the intra-frequency and inter-frequency neighbor cell measurement, the open issues are summarized as,
	Issue 1-3-0: Framework of intra-frequency cell reselection requirements for Redcap UE with eDRX
Agreement: The framework of requirements listed below are agreeable
Agreement: Use the number in the table and put the formula     in the NOTES of the table, same for all cases when number and formula are used to express the same requirements

FR1 Tdetect,EUTRAN_Intra, Tmeasure,EUTRAN_Intra and Tevaluate,E-UTRAN_intra  when eDRX<= 10.24s

	eDRX cycle length [s]
	Scaling Factor (N1) FR1
	Tdetect,NR_Intra [s] (number of eDRX cycles)
	Tmeasure,NR_Intra [s] (number of eDRX cycles)
	Tevaluate,NR_Intra
[s] (number of eDRX cycles)

	2.56
	1
	TBD
	TBD
	TBD

	5.12
	
	TBD
	TBD
	TBD

	10.24
	
	TBD
	TBD
	TBD


FR1 Tdetect,EUTRAN_Intra, Tmeasure,EUTRAN_Intra and Tevaluate,E-UTRAN_intra  when 10.24 < eDRX
	eDRX cycle length [s]
	DRX cycle length [s]
	PTW length [s] 
(number of 1.28s periods)
	FR1 Scaling Factor (N1)
	Tdetect,NR_Intra [s] (number of DRX cycles)
	Tmeasure,NR_Intra [s] (number of DRX cycles)
	Tevaluate,NR_Intra
[s] (number of DRX cycles)

	20.48 ≤ eDRX_IDLE cycle length ≤ 10485.76
	0.32
	TBD
	1
	TBD
	TBD
	TBD

	
	0.64
	TBD
	
	
	TBD
	TBD

	
	1.28
	TBD
	
	
	TBD
	TBD

	
	2.56
	TBD
	
	
	TBD
	TBD



FR2 Tdetect,EUTRAN_Intra, Tmeasure,EUTRAN_Intra and Tevaluate,E-UTRAN_intra  when eDRX<= 10.24s
	eDRX cycle length [s]
	FR2 Scaling Factor (N1)
	Tdetect,NR_Intra [s] (number of eDRX cycles)
	Tmeasure,NR_Intra [s] (number of eDRX cycles)
	Tevaluate,NR_Intra
[s] (number of eDRX cycles)

	2.56
	TBD

	TBD
	TBD
	TBD

	5.12
	
	TBD
	TBD
	TBD

	10.24
	
	TBD
	TBD
	TBD


FR2 Tdetect,EUTRAN_Intra, Tmeasure,EUTRAN_Intra and Tevaluate,E-UTRAN_intra  when 20.48 ≤  eDRX
	eDRX cycle length [s]
	DRX cycle length [s]
	PTW length [s] 
(number of 1.28s periods)
	FR2 Scaling Factor (N1)
	Tdetect,NR_Intra [s] (number of DRX cycles)
	Tmeasure,NR_Intra [s] (number of DRX cycles)
	Tevaluate,NR_Intra
[s] (number of DRX cycles)

	20.48 ≤ eDRX_IDLE cycle length ≤ 10485.76
	0.32
	TBD
	TBD
	
TBD
	TBD
	TBD

	
	0.64
	TBD
	TBD
	
	TBD
	TBD

	
	1.28
	TBD
	TBD
	
	TBD
	TBD

	
	2.56
	TBD
	TBD
	
	TBD
	TBD

	Note: when eDRX = 20.48s and 40.96s requirements are FFS



Issue 1-3-1: FR1 Cell reselection requirements for RedCap UE with eDRX cycle (intra frequency) when eDRX ≤10.24s
Recommended WF: FFS

Issue 1-3-2: FR2 Cell reselection requirements for RedCap UE with eDRX cycle (intra frequency) when eDRX ≤10.24s
Recommended WF: FFS

Issue 1-3-2-1: N1 value
Tentative agreement: reuse the agreement of Issue 1-2-1
Issue 1-3-3: FR1 Cell reselection requirements for RedCap UE with eDRX cycle (intra frequency) when eDRX >10.24s
Recommended WF: FFS and Solve issue 1-3-3-1 and 1-3-3-2 firstly.
Issue 1-3-3-1 Whether to consider M2 when DRX = 0.32s
· Option 1 included   
· Option 2: Do not include 
Recommended WF: FFS

Issue 1-3-3-2 Whether split PTW to 2 gears for small DRX cycle (0.32s and 0.64s) when defining requirements
· Option 1: Yes   
· Option 2: No  
Recommended WF: FFS

Issue 1-3-4: FR2 Cell reselection requirements for RedCap UE with eDRX cycle (intra frequency) when eDRX >20.48s
Recommended WF: FFS and Solve issue 1-3-4-1, 1-3-4-2, 1-3-4-3, 1-3-4-4 firstly.

Issue 1-3-4-1: FR2 Cell reselection requirements for RedCap UE with eDRX cycle (intra frequency) when eDRX = 20.48s
Option 1: Have issues with FR2 requirements when eDRX = 20.48s Proponent companies please provider further input on how to handle this issue or possible solution
Option 2: No issue
Recommended WF: FFS

Issue 1-3-4-2: N1 for FR2 intra-frequency cell reselection  requirements 
Option 1: [8 5 4 3] for DRX [0.32 0.64 1.28 2.56]  (Ericsson vivo Huawei xiaomi Nokia Ericsson Apple oppo)
Option 2: Further check N1 value (CMCC)
Agreement: N1= [8] for DRX= 0.32s;  [5] for DRX=0.64s;   [4] for DRX= 1.28s; [ 3] for DRX =2.56s


Issue 1-3-4-3 Whether to consider M2 when DRX = 0.32s
Agreement: reuse the agreement of Issue 1-3-3-1

Issue 1-3-4-4 Whether have separate PTW length for each DRX value when defining requirements
Agreement: reuse the agreement of Issue 1-3-3-2

Issue 1-3-5: Cell reselection requirements for RedCap UE with eDRX cycle (inter frequency)
Agreement : 
Cell reselection requirements for RedCap UE with eDRX cycle (inter frequency): Same as the corresponding requirements proposed for intra-frequency, respectively. 



Similar as serving cell measurement, when DRX≤10.24 is used, the samples of intra-frequency and inter-frequency measurement requirement could be specified like legacy 2.56s DRX case. We also think it makes sense to mostly reuse the requirement from LTE NB eDRX, e.g., sample number for cell measurement, evaluation and detection. But the time period shall not be shorter than legacy DRX case, e.g., in eDRX=2.56, we still use 23 as the sample number for detection. 
As discussed in proposal 1, we can compromise to keep M2 as well in intra-frequency cell reselection requirement.
Proposal 3: keep M2 in the FR1/FR2 intra-frequency cell reselection requirement when DRX = 0.32: 
· M2 = 1.5 if SMTC periodicity of measured intra-frequency cell > 20 ms, 
· otherwise M2=1. 
We don’t understand well on the motivation to split PTW to 2 gears for specific DRX cycles and we prefer to keep the similar mechanism as in LTE.
Proposal 4: No need to split PTW to 2 gears for small DRX cycle (0.32s and 0.64s) when defining requirements. 
Since measurement is somehow contained in evaluation period, that means normally the number of samples needed for evaluation is greater than the number of samples needed for measurement. So, following is proposed.
Proposal 5: For both FR1 and FR2, 
· the lower bound of PTW length in intra-frequency cell measurement of IDLE mode is .
· the lower bound of PTW length in inter-frequency cell measurement of IDLE mode is .
Proposal 6: the intra-frequency cell measurement requirement with eDRX for RedCap UE in IDLE mode is as followings, and same requirement applies to inter-frequency case except M2.
FR1 Tdetect,EUTRAN_Intra, Tmeasure,EUTRAN_Intra and Tevaluate,E-UTRAN_intra  when eDRX<= 10.24s

	eDRX cycle length [s]
	Scaling Factor (N1) FR1
	Tdetect,NR_Intra [s] (number of eDRX cycles)
	Tmeasure,NR_Intra [s] (number of eDRX cycles)
	Tevaluate,NR_Intra
[s] (number of eDRX cycles)

	2.56
	1
	58.88 x N1 (23 x N1)
	2.56 x N1 (1 x N1)
	7.68 x N1 (3 x N1)

	5.12
	
	102.4 x N1 (20 x N1)
	5.12 x N1 (1 x N1)
	10.24 x N1 (2 x N1)

	10.24
	
	102.4 x N1 (10 x N1)
	10.24 x N1 (1 x N1)
	20.48 x N1 (2 x N1)


FR1 Tdetect,EUTRAN_Intra, Tmeasure,EUTRAN_Intra and Tevaluate,E-UTRAN_intra  when eDRX≥ 20.48s
	eDRX cycle length [s]
	DRX cycle length [s]
	PTW length [s] 
(number of 1.28s periods)
	FR1 Scaling Factor (N1)
	Tdetect,NR_Intra [s] (number of DRX cycles)
	Tmeasure,NR_Intra [s] (number of DRX cycles)
	Tevaluate,NR_Intra
[s] (number of DRX cycles)

	20.48 ≤ eDRX_IDLE cycle length ≤ 10485.76
	0.32
	≥ 1.28 (1)
	1
	

	0.32 x N1 x M2 (1 x N1 x M2)
	0.64 x N1 x M2 (2 x N1 x M2)

	
	0.64
	≥ 1.28 (1)
	
	
	0.64 x N1 (1 x N1)
	1.28 x N1 (2 x N1)

	
	1.28
	≥ 2.56 (2)
	
	
	1.28 x N1 (1 x N1)
	2.56 x N1 (2 x N1)

	
	2.56
	≥ 5.12 (4)
	
	
	2.56 x N1 (1 x N1)
	5.12 x N1 (2 x N1)

	Note 1: PTW length is derived based on   
Note 2: M2=1.5 if SMTC periodicity of measured intra-frequency cell > 20 m and DRX cycle=0.32s, otherwise M2=1.



FR2 Tdetect,EUTRAN_Intra, Tmeasure,EUTRAN_Intra and Tevaluate,E-UTRAN_intra  when eDRX<= 10.24s
	eDRX cycle length [s]
	FR2 Scaling Factor (N1)
	Tdetect,NR_Intra [s] (number of eDRX cycles)
	Tmeasure,NR_Intra [s] (number of eDRX cycles)
	Tevaluate,NR_Intra
[s] (number of eDRX cycles)

	2.56
	3

	58.88 x N1 (23 x N1)
	2.56 x N1 (1 x N1)
	7.68 x N1 (3 x N1)

	5.12
	
	102.4 x N1 (20 x N1)
	5.12 x N1 (1 x N1)
	10.24 x N1 (2 x N1)

	10.24
	
	102.4 x N1 (10 x N1)
	10.24 x N1 (1 x N1)
	20.48 x N1 (2 x N1)


FR2 Tdetect,EUTRAN_Intra, Tmeasure,EUTRAN_Intra and Tevaluate,E-UTRAN_intra  when eDRX ≥ 20.48s
	eDRX cycle length [s]
	DRX cycle length [s]
	PTW length [s] 
(number of 1.28s periods)
	FR2 Scaling Factor (N1)
	Tdetect,NR_Intra [s] (number of DRX cycles)
	Tmeasure,NR_Intra [s] (number of DRX cycles)
	Tevaluate,NR_Intra
[s] (number of DRX cycles)

	20.48 ≤ eDRX_IDLE cycle length ≤ 10485.76
	0.32
	≥ 5.12 (4) (M2=1) or ≥ 7.68 (6) (M2=1.5)
	8
	


	0.32 x N1 x M2 (1 x N1 x M2)
	0.64 x N1 x M2 (2 x N1 x M2)

	
	0.64
	≥ 6.4 (5)
	5
	
	0.64 x N1 (1 x N1)
	1.28 x N1 (2 x N1)

	
	1.28
	≥ 10.24 (8)
	4
	
	1.28 x N1 (1 x N1)
	2.56 x N1 (2 x N1)

	
	2.56
	≥ 15.36 (12)
	3
	
	2.56 x N1 (1 x N1)
	5.12 x N1 (2 x N1)

	Note 1: PTW length is derived based on   
Note 2: M2=1.5 if SMTC periodicity of measured intra-frequency cell > 20 m and DRX cycle=0.32s, otherwise M2=1.



3. eDRX requirements for inactive state
The remaining issues from last meeting are as below,
	Issue 1-4-2: Inactive state requirements when idle eDRX is longer than 10.24s
· Option 1: when idle eDRX is longer than 10.24s, the inactive UE requirements are based on inactive DRX or inactive eDRX when inactive eDRX is configured (vivo Huawei MTK) 
· Option 2: Based on the paging monitoring cycle of T agreed in RAN2 (Apple xiaomi Nokia Ericsson vivo)
	IDLE eDRX[s]
	Inactive eDRX[s]
	Outside CN PTW or during CN PTW
	T

	>10.24
	Not configured
	During CN PTW
	Shortest value of default paging cycle and UE specific DRX cycle if configured by upper layer

	>10.24
	Not configured
	Outside CN PTW
	RAN paging cycle.

	>10.24
	≤10.24
	During CN PTW
	Shortest value of default paging cycle and UE specific DRX cycle if configured by upper layer

	>10.24
	≤10.24
	Outside CN PTW
	INACTIVE eDRX cycle



Recommended WF: FFS

Issue 1-4-3: Inactive state requirements when idle eDRX is no longer than 10.24s
· Option 1: when idle eDRX is no longer than 10.24s, the inactive UE requirements are based on inactive eDRX or inactive DRX when inactive eDRX is not configured (vivo Huawei MTK)   
· Option 2: Based on the paging monitoring cycle of T agreed in RAN2 (Apple xiaomi Nokia Ericsson vivo)

	IDLE eDRX[s]
	Inactive eDRX[s]
	Outside CN PTW or during CN PTW
	T

	≤10.24
	Not configured
	NA
	Shortest of RAN paging cycle and IDLE eDRX cycle

	≤10.24
	≤10.24
	NA
	The shortest of IDLE eDRX cycle and INACTIVE eDRX cycle.



Recommended WF: FFS


Based on conclusion in RAN2 and SA2, in Inactive mode UE can only use eDRX up to 10.24s and no PTW shall be considered in this case. RAN2 had following agreement in #116e meeting: 
· When IDLE eDRX and INACTIVE eDRX are configured and both cycles are no longer than 10.24s, PO is determined by IDLE eDRX.
· When IDLE eDRX is configured and is no longer than 10.24s, INACITVE eDRX cycle is not configured, PO is determined by IDLE eDRX.
· During CN PTW when IDLE eDRX is configured and longer than 10.24s, and INACTIVE eDRX is configured, PO is determined by the shortest value of default paging cycle and UE specific DRX cycle if configured by upper layer.
· During CN PTW when IDLE eDRX is configure and is longer than 10.24s, INACTIVE eDRX cycle is not configured, PO is determined by the shortest value of default paging cycle and UE specific DRX cycle if configured by upper layer.
Agreements online:
· For the eDRX PTW start calculation, agree to N=8. No signalling needed to CN.
· The eDRX acquisition period is the same for IDLE and INACTIVE.
· A)	For RRC_INACTIVE UE, when IDLE eDRX cycle is no longer than 10.24s and INACTIVE eDRX cycle is not configured, T is determined by the shortest of RAN paging cycle and IDLE eDRX cycle.
· B)	For RRC_INACTIVE UE, when IDLE eDRX cycle is longer than 10.24s and INACTIVE eDRX cycle is not configured, outside CN PTW, T is determined by RAN paging cycle.
RAN2 had following agreement in #115e meeting:
· For RRC_INACTIVE UE, when IDLE eDRX cycle is longer than 10.24s and Inactive eDRX cycle is not configured, during CN PTW, T is determined by the shortest of UE specific DRX cycle, if configured by upper layer, RAN paging cycle and default paging cycle.

· For RRC_INACTIVE UE, when IDLE eDRX cycle is longer than 10.24s and Inactive eDRX cycle is no longer than 10.24s, outside CN PTW, T is determined by INACTIVE eDRX cycle.

· For RRC_INACTIVE UE, when IDLE eDRX cycle is no longer than 10.24s and INACTIVE eDRX cycle is no longer than 10.24s, T is determined by the shortest of IDLE eDRX cycle and INACTIVE eDRX cycle.
· For RRC_INACTIVE UE, when IDLE eDRX cycle is longer than 10.24s and INACTIVE eDRX cycle is no longer than 10.24s, during CN PTW, T is determined by the shortest of UE specific DRX cycle, if configured by upper layer, INACTIVE eDRX cycle and default paging cycle.

· For RRC_INACTIVE UE, when IDLE eDRX cycle is no longer than 10.24s and INACTIVE eDRX cycle is not configured, FFS which option below is adopted for paging monitoring:
	Option 1: T is determined by the shortest of RAN paging cycle, IDLE eDRX cycle, and default paging cycle.
	Option 2: T is determined by the shortest of RAN paging cycle and IDLE eDRX cycle.
· For RRC_INACTIVE UE, when IDLE eDRX cycle is longer than 10.24s and INACTIVE eDRX cycle is not configured, outside CN PTW, FFS which option below is adopted for paging monitoring:
	Option 1: T is determined by the shortest of RAN paging cycle and default paging cycle.
			Option 2: T is determined by RAN paging cycle.
Table 1. Summary of RAN2 agreement for paging monitoring cycle T
	IDLE eDRX[s]
	Inactive eDRX[s]
	Outside CN PTW or during CN PTW
	T

	>10.24
	Not configured
	During CN PTW
	Shortest value of default paging cycle and UE specific DRX cycle if configured by upper layer

	>10.24
	Not configured
	Outside CN PTW
	RAN paging cycle.

	>10.24
	≤10.24
	During CN PTW
	Shortest value of default paging cycle and UE specific DRX cycle if configured by upper layer

	>10.24
	≤10.24
	Outside CN PTW
	INACTIVE eDRX cycle

	≤10.24
	Not configured
	NA
	Shortest of RAN paging cycle and IDLE eDRX cycle

	≤10.24
	≤10.24
	NA
	The shortest of IDLE eDRX cycle and INACTIVE eDRX cycle.


The measurement cycle for inactive mode requirement with eDRX shall be specified based on the RAN2 agreements summarized in table 1.
Proposal 7: the measurement cycle for inactive mode requirement with eDRX shall be specified based on the paging monitoring cycle of T from RAN2 agreements summarized in table 1.
4. Conclusion
We discuss the RRM requirement with eDRX for RedCap in this contribution.
Proposal 1: keep M1 in the FR1/FR2 Nserv when DRX = 0.32 and 0.64s: 
· M1=2 if SMTC periodicity (TSMTC) > 20 ms and DRX cycle≤ 0.64s, 
· otherwise M1=1. 
Proposal 2: define serving cell requirements for eDRX length larger than 10.24s as below,
· FR1 Nserv for 10.24s<eDRX cycle≤10485.76s
	eDRX cycle length [s]
	DRX cycle length [s]
	PTW length [s] 
(number of 1.28s periods)
	Scaling Factor (N1) for FR1
	Nserv [number of DRX cycles]

	20.48 ≤ eDRX_IDLE cycle length ≤ 10485.76
	0.32
	≥ 1.28 (1) 
	1
	M1*N1*2

	
	0.64
	≥ 1.28 (1) (M1=1) or ≥ 2.56 (2) (M1=2)
	
	M1* N1*2

	
	1.28
	≥ 2.56 (2)
	
	N1*2

	
	2.56
	≥ 5.12 (4)
	
	N1*2

	Note 1: PTW length is derived based on  
Note 2: M1=2 if SMTC periodicity (TSMTC) > 20 ms and DRX cycle≤ 0.64s, otherwise M1=1. 


· FR2 Nserv for 10.24s<eDRX cycle≤10485.76s
	eDRX cycle length [s]
	DRX cycle length [s]
	PTW length [s] 
(number of 1.28s periods)
	Scaling Factor (N1) for FR2
	Nserv [number of DRX cycles]

	20.48 ≤ eDRX_IDLE cycle length ≤ 10485.76
	0.32
	≥ 5.12 (4) (M1=1) or ≥ 10.24 (8) (M1=2)
	8
	M1*N1*2

	
	0.64
	≥ 6.4 (5) (M1=1) or ≥ 12.8 (10) (M1=2)
	5
	M1*N1*2

	
	1.28
	≥ 10.24 (8)
	4
	N1*2

	
	2.56
	≥ 15.36 (12)
	3
	N1*2

	Note 1: PTW length is derived based on  
Note 2: M1=2 if SMTC periodicity (TSMTC) > 20 ms and DRX cycle≤ 0.64s, otherwise M1=1.


Proposal 3: keep M2 in the FR1/FR2 intra-frequency cell reselection requirement when DRX = 0.32: 
· M2 = 1.5 if SMTC periodicity of measured intra-frequency cell > 20 ms, 
· otherwise M2=1. 
Proposal 4: No need to split PTW to 2 gears for small DRX cycle (0.32s and 0.64s) when defining requirements. 
Proposal 5: For both FR1 and FR2, 
· the lower bound of PTW length in intra-frequency cell measurement of IDLE mode is .
· the lower bound of PTW length in inter-frequency cell measurement of IDLE mode is .
Proposal 6: the intra-frequency cell measurement requirement with eDRX for RedCap UE in IDLE mode is as followings, and same requirement applies to inter-frequency case except M2.
FR1 Tdetect,EUTRAN_Intra, Tmeasure,EUTRAN_Intra and Tevaluate,E-UTRAN_intra  when eDRX<= 10.24s

	eDRX cycle length [s]
	Scaling Factor (N1) FR1
	Tdetect,NR_Intra [s] (number of eDRX cycles)
	Tmeasure,NR_Intra [s] (number of eDRX cycles)
	Tevaluate,NR_Intra
[s] (number of eDRX cycles)

	2.56
	1
	58.88 x N1 (23 x N1)
	2.56 x N1 (1 x N1)
	7.68 x N1 (3 x N1)

	5.12
	
	102.4 x N1 (20 x N1)
	5.12 x N1 (1 x N1)
	10.24 x N1 (2 x N1)

	10.24
	
	102.4 x N1 (10 x N1)
	10.24 x N1 (1 x N1)
	20.48 x N1 (2 x N1)


FR1 Tdetect,EUTRAN_Intra, Tmeasure,EUTRAN_Intra and Tevaluate,E-UTRAN_intra  when eDRX≥ 20.48s
	eDRX cycle length [s]
	DRX cycle length [s]
	PTW length [s] 
(number of 1.28s periods)
	FR1 Scaling Factor (N1)
	Tdetect,NR_Intra [s] (number of DRX cycles)
	Tmeasure,NR_Intra [s] (number of DRX cycles)
	Tevaluate,NR_Intra
[s] (number of DRX cycles)

	20.48 ≤ eDRX_IDLE cycle length ≤ 10485.76
	0.32
	≥ 1.28 (1)
	1
	

	0.32 x N1 x M2 (1 x N1 x M2)
	0.64 x N1 x M2 (2 x N1 x M2)

	
	0.64
	≥ 1.28 (1)
	
	
	0.64 x N1 (1 x N1)
	1.28 x N1 (2 x N1)

	
	1.28
	≥ 2.56 (2)
	
	
	1.28 x N1 (1 x N1)
	2.56 x N1 (2 x N1)

	
	2.56
	≥ 5.12 (4)
	
	
	2.56 x N1 (1 x N1)
	5.12 x N1 (2 x N1)

	Note 1: PTW length is derived based on   
Note 2: M2=1.5 if SMTC periodicity of measured intra-frequency cell > 20 m and DRX cycle=0.32s, otherwise M2=1.



FR2 Tdetect,EUTRAN_Intra, Tmeasure,EUTRAN_Intra and Tevaluate,E-UTRAN_intra  when eDRX<= 10.24s
	eDRX cycle length [s]
	FR2 Scaling Factor (N1)
	Tdetect,NR_Intra [s] (number of eDRX cycles)
	Tmeasure,NR_Intra [s] (number of eDRX cycles)
	Tevaluate,NR_Intra
[s] (number of eDRX cycles)

	2.56
	3

	58.88 x N1 (23 x N1)
	2.56 x N1 (1 x N1)
	7.68 x N1 (3 x N1)

	5.12
	
	102.4 x N1 (20 x N1)
	5.12 x N1 (1 x N1)
	10.24 x N1 (2 x N1)

	10.24
	
	102.4 x N1 (10 x N1)
	10.24 x N1 (1 x N1)
	20.48 x N1 (2 x N1)


FR2 Tdetect,EUTRAN_Intra, Tmeasure,EUTRAN_Intra and Tevaluate,E-UTRAN_intra  when eDRX ≥ 20.48s
	eDRX cycle length [s]
	DRX cycle length [s]
	PTW length [s] 
(number of 1.28s periods)
	FR2 Scaling Factor (N1)
	Tdetect,NR_Intra [s] (number of DRX cycles)
	Tmeasure,NR_Intra [s] (number of DRX cycles)
	Tevaluate,NR_Intra
[s] (number of DRX cycles)

	20.48 ≤ eDRX_IDLE cycle length ≤ 10485.76
	0.32
	≥ 5.12 (4) (M2=1) or ≥ 7.68 (6) (M2=1.5)
	8
	


	0.32 x N1 x M2 (1 x N1 x M2)
	0.64 x N1 x M2 (2 x N1 x M2)

	
	0.64
	≥ 6.4 (5)
	5
	
	0.64 x N1 (1 x N1)
	1.28 x N1 (2 x N1)

	
	1.28
	≥ 10.24 (8)
	4
	
	1.28 x N1 (1 x N1)
	2.56 x N1 (2 x N1)

	
	2.56
	≥ 15.36 (12)
	3
	
	2.56 x N1 (1 x N1)
	5.12 x N1 (2 x N1)

	Note 1: PTW length is derived based on   
Note 2: M2=1.5 if SMTC periodicity of measured intra-frequency cell > 20 m and DRX cycle=0.32s, otherwise M2=1.



Proposal 7: the measurement cycle for inactive mode requirement with eDRX shall be specified based on the paging monitoring cycle of T from RAN2 agreements summarized in table 1.
Table 1. Summary of RAN2 agreement for paging monitoring cycle T
	IDLE eDRX[s]
	Inactive eDRX[s]
	Outside CN PTW or during CN PTW
	T

	>10.24
	Not configured
	During CN PTW
	Shortest value of default paging cycle and UE specific DRX cycle if configured by upper layer

	>10.24
	Not configured
	Outside CN PTW
	RAN paging cycle.

	>10.24
	≤10.24
	During CN PTW
	Shortest value of default paging cycle and UE specific DRX cycle if configured by upper layer

	>10.24
	≤10.24
	Outside CN PTW
	INACTIVE eDRX cycle

	≤10.24
	Not configured
	NA
	Shortest of RAN paging cycle and IDLE eDRX cycle

	≤10.24
	≤10.24
	NA
	The shortest of IDLE eDRX cycle and INACTIVE eDRX cycle.
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